workbench

Thank You!

You have successfully downloaded your document
from Workbenchmagazine.com. Below are some
tips for Trouble-Free Printing

1) Clear printer memory. If you are unable to print this document,
turn off your printer for at least 15 seconds and try again.

2) Print two or three pages at a time. If clearing the printer
memory didn't help, try printing only two or three pages at one
time, rather than sending the entire file

3) If a document is required to be at an accurate scale set the page
scaling option to "none" in your printer settings.

4) Get advanced printer help. Visit Adobe Support for instructions
in troubleshooting common printer problems.

http://www.adobe.com/support/techdocs/316508.html



http://www.adobe.com/support/techdocs/316508.html

WORKBENCH

Issue 284  Volume 60  Number 4 July/August 2004

MATERIALS LIST

MATERIALS & HARDWARE

Part Qty] T w L Material

A | Case Top & Bottom 2| %" 182" | 35%" | Maple Plywood

B | Cose Sides 2| " 19%," | 48"2" | Maple Plywood

C | Cose Back 1 " 35" | 47%" | Maple Plywood

D | Adjustable Shelves | 4 | 34" 8%" | 34%" | Maple Plywood

E | Fixed Shelf 1 " 83" | 35%" | Maple Plywood

F | Shelf Edging 5 " 1" | 34%" | Maple

G | Face Frame Rails 2| %" 1" 34" | Maple

H | Face Frame Stiles 2| " " 48" | Maple

I | Unit Tops & Bottoms | 4 | 34" 7" 144" | Maple Plywood

J | Unit Sides 4| " 7" 46" | Maple Plywood

K | Upper/Lower Shelves | 4 | 34" 7" 144" | Maple Plywood

L | Middle Shelves 4| 3" 3%" | 14%" | Maple Plywood

M | Dividers 2| " 13" | 14%" | Maple Plywood

N | Unit Handles 2 %" 23" | 46" | Maple

O | Unit Side Edging 6| W' " 46" | Maple

P | Unit Shelf Edging 20| " " 13%" | Maple

Q | Hinge Stops 2| " 1%" 46" | Maple

R | Mounting Cleats 2| 1" 3" 34Y2" | Maple Plywood

S | Door Bottom Rails 2| %" 2" 142" | Maple

T | Door Top Rails 2| " 4" 142" | Maple

U | Door Stiles 4| " 2" 477" | Maple

V| Door Panels 2| B" 14" | 44%" | Maple

*(4) Blum Face-Frame Hinges*

*(2) Door Pulls (to match cabinets)* LINE

*(2) 1%" Piano Hinges (48" long) Extras

*(16) 4" Shelf Supports Cutting Diagram

*(2) %" Rare-Earth Magnets, WorkbenchMagazine.com
Cups, and Washers**

*(16) %6"-dia. x 14%" Metal Rods  xplym Hinges (55918) and Door Pull (10338)

*(10) #8 x 1%" Fh Woodscrews are from Rockler (800-279-4441, Rockler.com).

*(4) #8 x 2" Fh Woodscrews *Rare-Earth Magnets (99K32.11), Cups

*(96) #8 x %" Fh Woodscrews (99K32.54), and Washers (99K32.64) are from

*(4) #8 x 3" Panhead Screws Lee Valley (800-871-8158, LeeValley.com).

Page 1 of 3

Copyright 2003, August Home Publishing Company.
All Rights Reserved.



CUTTING DIAGRAM

3" X 48" X 96" (MAPLE PLYWOOD)

3" X 48" X 96" (MAPLE PLYWOOD)

Page 2 of 3

Copyright 2003, August Home Publishing Company.
All Rights Reserved.



CUTTING DIAGRAM

4" X 48" X 96" (MAPLE PLYWOOD)

3" X 9" X 96" (4.5 Bd. Ft. MAPLE)

" X 10" X 96" (5 Bd. Ft. MAPLE)

3 BOARDS- 34" X 6" X 96" (12 Bd. Ft. TOTAL MAPLE)

Page 3 of 3

Copyright 2003, August Home Publishing Company.
All Rights Reserved.





